
 

  

APRIL 2020 51119/SER6B/TEC6A 

Time : 2
11  hours Maximum : 75 marks 

SECTION A — (5  3 = 15 marks) 

Answer any FIVE questions, each in 30 words 

1. What is the importance of accumulator register? 

 EªÌÁõß £vÂ°ß •UQ¯zxÁ® ¯õx? 

2. What is the use of stack pointer? 

 ìhõU _miUPõmi°ß £¯ß£õk ¯õx? 

3. Write the operation of XCHG instruction. 

 XCHG  PmhøÍ°ß ö\¯À£õk GÊx. 

4. Write the operation of CMP r instruction. 

 CMP r PmhøÍ°ß ö\¯À£õk GÊxP. 

5. Write an assembly language program for 
subtraction of two bytes. 

 Cμsk ø£mkPÒ PÈ¨£uØPõÚ J¸[S ÷\º¨¦ 

ö©õÈ {μÀ GÊx. 

6. What is meant by machine cycle? 

 C¯¢vμa _ØÖ GßÓõÀ GßÚ? 

7. Explain the allotment of address lines for 
interfacing a 2K x 8 ROM. 

 2K x 8 ROM Cøha ö\¸P¾UPõÚ •PÁ› JxURk 

ÂÍUS. 
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8. Mention different types of machine cycles.  

 £À÷ÁÖ ÁøP¯õÚ C¯¢vμ _ØÖPÒ SÔ¨¤kP. 

9. Write the initialization of Intel 8255 for the 
control word 89H. 

 89 H ÁõºøuUPõÚ CshÀ 8255&ß xÁUP® GÊx. 

10. Write instructions to enable all the interrupts in 
an 8085 system. 

 AøÚzx SÖURkPÒ ö\¯À£kzxÁuØS J¸ 8085 

Aø©¨¤À PmhøÍPÒ GÊx. 

11. What is pending interrupts? 

 {¾øÁ SÓURkPÒ GßÓõÀ GßÚ? 

12. What is polled interrupt? 

 ÁõUPÎUP¨£mh SÖURkPÎÒ GßÓõÀ GßÚ? 

SECTION B — (3  10 = 30 marks) 

Answer any THREE questions, each in 200 words 

13. Explain the status of Intel 8085 flags. 

 CshÀ 8085 öPõiPÎß {ø» ÂÍUS. 

14. With a neat sketch explain demultiplexing of 
address and data bus. 

 •PÁ› ©ØÓ® uμÄ £ì ö£¸UP}USuÀ £hzxhß 

ÂÍUS. 

15. Explain various types of addressing modes of 8085 
microprocessor. 

 8085 ¡sö\¯¼°ß £À÷ÁÖ ÁøP¯õÚ •PÁ› 

•øÓPÒ ÂÍUS. 
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16. Write an assembly language program to find the 
largest number in data array. 

 uμÄ Á›ø\°À ö£›¯ Gs Põs£uØPõP J¸[S 

÷\º¨¦ ö©õÈ {μÀ GÊx. 

17. Explain the timing diagram for MVI A, 25H 
instruction. 

 MVI A, 25H PmhøÍUPõÚ Põ» Áøμ£h® ÂÍUS. 

18. Explain the interfacing of flashing LEDs with 
8085 microprocessor. 

 8085 ~sö\¯¼²hß JÎ¸® LEDPÒ 

Cøhaö\¸SuÀ ÂÍUS, 

19. Explain interrupt controlled data transfer. 

 SÖURk Pmk¨£õk uμÄ £›©õØÓ® ÂÍUS. 

SECTION C — (2  15 = 30 marks) 

Answer any TWO questions, each in 500 words 

20. Explain the pin functions of Intel 8085 
microprocessor. 

 CshÀ 8085&ß •øÚ¯ ö\¯À£õkPÒ ÂÍUS. 

21. Explain operations of arithmetic instructions with 
examples. 

 Pou PmhøÍPÎß ö\¯À£õkPÒ Euõμnzxhß 

ÂÍUS. 
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22. Explain the interfacing of 2K  8 ROM with 8085 
microprocessor. 

 8085 ~sö\¯¼²hß 2K  8 ROM       Cøhaö\¸PÀ 

ÂÍUS. 

23. Draw the control word register of Intel 8255 and 
illustrate the I/O ports operation in different 
modes. 

 CshÀ 8255&ß Pmk¨£õk Áõºzøu £vÂ ÁøμP. 

©ØÖ® E/öÁ {ø»zxøÓPÎß ö\¯À£õk £À÷ÁÖ 

•øÓ°À ÂÍUS. 

24. Discuss 8085 interrupts and vector locations. 

 8085 SÖURkPÒ ©ØÖ® vø\¯ß C¸¨¤h® ÂÁõv. 
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